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All questions are of objective type having four answer optionz for each. Only one option is
correct. Correct answer will carry full marks 2. In case of incorrect answer or any
combination of more than one answer, Y2 mark will be deducted.

2. Questions must be answered on OMR sheet by darkening the approprate bubble marked
A B, . C orD.

3.-  Use only Black/Blue ink ball point pen to mark the answer by complete filling up of
the respective bubbles.

4.  Mark the answers only in the space provided. Do not malke any stray mark on the OMR
Sheet.

5. Write gquestion booklet number and your roll number carefully in the specified locations
of the OMR Sheet. Also fill apprapriate bubbles.

6. Write your name (in block letter), name of the examination centre and put your signature
(as is appeared in Admit Card) in appropriate boxes in the OMR Shect.
The OMR Sheet is liable to become invalid if there is any mistake in filling the correct
bubbles for guestion baoklet numberfroll number or if there is any discrepancy in the
name/signature of the candidate, name of the examination centre. The OMR Sheet may
also become invalid due to folding or putting stray marks on it or any damage to it. The
conseguence of such invalidation due to incorrect marking or careless handling by the
candidate will be the sole responsibility of candidate.

8. Candidates are not allowed to carrv any written or printed material, calculator, pen,
docu-pen, log table, wristwatch, any communication device like mobile phones, bluetooth
etc. inside the examination hall. Any candidate found with such prohibited items will be
reported against and his/her candidature will be summarily cancelled.

9. Hough work must be done on the question bocklet itself. Additional blank pages are given
in the question hooklet for rough work.

10. Hand over the OMR Sheet to the invigilator before leaving the Examination Hall.

11. Thie booklet containe questions in both English and Bengali. Necessary care and
precaution were taken while framing the Bengali wversion. However, if any
discrepancy(ies) isfare found between the two versions, the information provided in the
English version will stand and will be treated as final.

12. Candidates are allowed to take the Question Booklet after Examination is over.
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BDurand line is the boundary between
(A) India and China

(B) India and Pakistan

(C) Pakistan and Afghanistan

D) faa_dia. and Bangladesh

(A) wie 3 B T B) wFe 3 7ifEEEg 5

(C) NFEA S TN TR (D) ©IF® S IR 5

Which of the following ocean currents is a cold current ?
(A) Equatorial Current

(B) North-East Atlantic Drift

(C) EKuroshio Current

(D) Canary Current

TS STETTe e A @At Mee @i 2
&) FPw e @) Twg-<f wGeFoe Fews!

©) F@EPHS @w® D) wEE &S

Of the following, which part of India is relatively less earthquake prone ?
(A) Himalayan region

(B) Peninsular region

(C) Indian islands

(D) North-East region

Fmfeiie i ersterm ney et e S o et age 7

A) TRreT erkee (B) Eoa wrzea
©) wETeT e @) Beg-~izem
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Which among the following statements is the most appropriate statement in

favour of sea floor spreading ?

(A) Magnetic property of oceanic rocks shows repetition of linear pattern on
either side of the mid-oceanic ridge.

(B) Linear Magnetic pwpertv of oceanic rocks continues for huncheds of
kilometres.

() The zone of similar magnetic property is about 20 — 30 km wide.

(@) Transform fault interrupts this linear pattern of magnetic property of

oceanic crust.

fresa eIl g I0eRa R STA0s @ @ el oifers 793 7

%y wWW%wﬁawmwwm
RS ¢l A |

B) TETHITE SE pE RTER Gl 11 e e 6. F. i e = |

(©) 98 AR G AP wenwRRE 20-30 6. eprE R |

(D) B i T, TEETR GER FE WG AR et Rie = |

Which among the following statements on river basin is correct ? Select the
proper code.

1. Contributing area increases with distance from water divide.

2. Discharge increases with distance from water divide.

3. With increasing discharge valley width, flow depth and water velocity

increase.
Codes :
(A) 1and 2 are correct (B) 2 and 3 are correct
(C) 1and 3 are correct (D) 1,2 and 3 are correct

7 ST SRS Fsd (i RYToaier 7 2 T3 AFOL 57 T |

1. WF@WWWMWWWWWW;

9. TSI (A AT AGCH TRIA SEieiE Y |

5. SRR IS AR SRR &, SR SRS @ SIS AT |
HRIPS ©

(A 19 21F (B) 2wze 3%

() 199 37%F @) 1, 2932 330%®
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6. Which among the following channel patterns develop by a single channel ?
(A) Meandering and Straight channels
(B) Braided and Anastomosing channels
(C) Anast-omosing and Meandering channels

(D) Straight and Anastomosing channels

7 Golw RIS TFResfT 93 ARG TR S5O 7
(A) TERE RS Uie 992 FIEERT S

(B) R die 932 SHRPIGIeTTER ATe

(C) SYFRPIEITTRSS @32 TR TS 41O

(D) AT 932 SYAPIGAIeS e

7. By which of the following actions — Sea caves, Arches, Stacks and Stamps are

formed along a irregular coast ?
(A) Wave reflection
(B) Wave refraction
| (C) High tide
(D) Coastal current

fea @lF *afere SivEie GoRre 9 T 57, o1, o5 @ oot s1fdw 29 7
(A) waEd afeTem

@) s dfe=e
(C) a1 (S

D) TATER O

o
O
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8. Read the following statements about ‘pycnocline’ and choose the-correct code :
1. Tt lies at 300 — 1000 m depth from the mean sea level.
2. At pycnocline salinity decreases with depth in the low latitudes.
3. At pycnocline salinity increases with depth in the high latitude.
4. At pycnocline density remains constant in high latitude.
Codes: - '
(A) 1,2, 3 are correct
B) 2, 3, 4 are correct
(C) 1, 3, 4 are correct
(D) 1,2, 3, 4 are correct
PrcTeza ews fosd Rfowfr g «3k 7fde Teelt 77 F |

1. af SEes @ 300 — 1000 7. TS S[Es | :

9. Frm orERe PGSR TOHS! ASHE T Ty AT F01 |

3. O ST PSR STOIe! AT AT I FTITS! CT |

4 O SEPIRDT TG SIS IS A ST ST AT (P AR 28 |
PG : |

A) 1,2, 395

(B) 2, 83,45
©) 1,3 4705
D) 1,238 435

9. High tide on the side of the earth facing the moon occurs where
(A) Centrifugal force and gravitational force act in opposite direction.
(B) Centrifugal force and gravitational force act in same direction.
(C) Both centrifugal and gravitational force are equal.
(D) Centrifugal force is zero and gravitational force 1s maximum.
Erom e <3S SROT AT 33Y (ST T G
(A) ST I oiF Bifesd 341 [Fedie 3l
(B) I 771 SR Sioe Je oAl
(C) TIoIEE Je S SIS 6T i

(D) ST 9 ") O Tey 96 SHKIRT

L
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10. GIS stands for
(A) Global Information System
(B) Global Investigation System
(8] Geographic:;rll Information Service
(D) Geographical Information System
GIS *7m o 77

(A) Global Information System
(B) Global Investigation System
(C) Geographical Information Service

(D) Geographical Information System

11. ‘Mesa’ and ‘Butte topography are associated more with the rock structure of
(A) Fold
(B) Fault
(C) Uniclinal
(D) Horizontal

@ P S5 T e 8 RGE st st wiEE wf 5 —
(A) S 515 (B) pie steT
(C) 9T 5157 D) SEHGH 157

12. The river primarﬂy responsible for the development of inverted topography is
termed as

(A) Consequent river
(B) Subsequent river
(C) Obsequent river
(D) Resequent river

@ A} BRI (inverted) B ReeT el Siie! #iem o, wite 9e1 58 —
(A) SIS (B) sig<o! ah!
©) Remtaat D) 7TSar Al

' g
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13. The length of a stream on SOI topographical map 1s measured as 2.5 em, while
its actual length on ground is 6.25 km. Which one of the following 1s the scale

of the said topographical map ?

@) 1: 50,000 ' | (B) 1:1,00.000

(© 1:1,30,000 @) 1:2,50,000

SabapmEe T G Ta Rl 2.5 oy ~fel T TAR T 2T O GRS
6.25 Tl 20T B8 SR@PIET THibLad (F $9 7

(A) 1:50,000 (B) 1:1,00,000

(C) 1:1,50,000 D) 1:2,50,000

14. Which is not the.consequencelof domestic migration ?
(A) Increase of population in the area of destination.
(B) Change in the composition of male — female ratio.
(C) Assimilation of culture.
(D) Tncrease of birth rate due to increase of female population.

(A) STy ST SERRaAN
B) B-ofPN oTAATSa RS
(©) IRghea SRBET

D) B SR IR P SR I
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15. Which of the following are the characteristics of ‘S’ wave ?
1. It travels only through solid material.
2. It 1s known as shaking wave, where particle motion 1s perpendicular to
the direction of wave propagation.
3. It does not travel slower than P-waves.
4, Destructive power is more than P-waves.
(A) 1, 2and 3 are correct
(B) 2, 3and 4 are correct
(C) 1, 2and 4 are correct
(D) Only 1 and 2 are correct
Mo 17 aPigafer S - g wacm o 1fHE 2

L. 9% a9 @91 S ~miela vy e e F |

2. aft g a3 T ARE @UIE YW FAPNT I SO SISTAR A
CHTSIR STeaie = |

3. P-oaw 9w 8 sifters awel e 1 |

4. P-oF% SUPH YR SAGR RSP 6t @ |

Ay 1,293 3 B

(B) 2, 39324 3%

€ 1,293 4 5

D) et 193e 2 o

16. In which among the following irrigation method water directly reaches to the
roots using least amount of water ?
(A) Sprinkler irrigation
(B) Drip irrigation
(C) Centre — Pivot irrigation
(D) Furrow irrigation
T T CTARNSTS S I AR ST IR T T s1ed R s
bt
(&) B 675 Awhs (B) @R G5 whs
©) RFFTE GT5 Taho (D) S CT5 Fahs

ot _
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17. Which among the following is not the propounder of the concept of time-
dependent cycle of erosion ?
(A) W.M. Davis
(B) L.C.King
(€) J.T. Hack
(D) W. Penk
oA 1 S A ST THECFA YR ST A9 7

(A) W.M. Davis
(B) L.C.King
(C) J.T. Hack
(D) W.Penk

18. Which of the following adaptation of plant occurs to reduce the water loss in
desert areas ?

1. Leaves become thorn

2. Leaves become broad and dip-trip

3. Leaves become tiny

4. Leaves become hard and waxy

(A) 1,2and3

(B) 2and3

{C) 1,2and4

D) land4

P STR6TET SET WHE (KA i) SR (IR, P SISt ThiF 7
1. e F1om AfRTe 2w

9. e GHDIE SRR AR TS O 2R 8 SRS el
3. e FEFS W |

4. OIS @ GG ST T =8

(A) 1,283

(B) 283

() 1,284

D) 184
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19. Statement :

' N
Geography 11 % (]

These clouds are black and dark grey in colour, rapidly spread in the sky, close
to the surface with greater height (towering cloud), lead to heavy rainfall with
thunder and lightening. What type of cloud bears this characteristics ?

(&) Cirus

B) - Stratus-

(C) Nimbus

(D) Cumulonimbus

afs : 9% wmram T g it @ FiE RER =, ST T W AW, T
TR RF T O <108 oo (78t o), 35 e 12 ©1f 3fEsme 9w | @m
ST G (O % GRS w7 T 3 2

(&) B

B) ZyoE

© s
(D) FeGcatftr

Which of the following is the contour expression of ridge and valley
topography ?
(A) Regular spacing of contours

(B) Close spacing of the contours at two sides and wider spacing in the
middle -

(C) Wider spacing of the contours at two sides and close spacing in the
middle
(D) Trregular spacing of contours

%ﬁﬁme@wrmﬂm—ﬁm@ﬂﬁmﬁ%mﬁmﬂm
(A) STETS @R T S[EA

(B) 43 1T o7 TWAlS @3T8 Wi [{wta g swafs @t

(C) ﬁmwwwﬁ“—MGmwwﬁ‘—w

D) RFee Tafs @ s
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21, Which of the following species group constitute the second trophic level in the
food chain ?

(A) Primary producers
(B) Primary consumers
(C) Secondary consumers

(D) ]je.composers

Srosa (IR arsis G A s RS TR A@is 515w F 2
(A) ENANT BT (B) &R 4ms
©) momETwIrE D) R

29, Tn cool and moist climate, which of the following soil forming process
predominantly operate ?

(A) Laterization
(B) Calcification
(C) Podzolization
(D) Salinization

FioeT @ OTef SERTS 5a (P FSTTIEs e e RUITSiE $Rea! 2

(A) HICTERSHH B) FESEE
(C)  CHCTIROST D) SleaRese

3. Which among the following is the most favourable factors for cotlon textile
industry ?

(A) Nearness to water source
(B) Nearness to raw materials
(C) Nearness to market

(D) Nearness to transport

Siva @ Pl @ 9w Frgm oy SReE @ Sgge ?
(A) SEIPTER (0] (B) FISMITR (T30S
(C) sz ifEey (D) ez FE e
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24, Consultancy activities contribute to which of the following sectors of cconomy ?
(A) Secondary sector
(B) Tertiary sector
(C) Quarternary sector
(D) Quihar}-‘ sector :
SATES 7164 (P ST CFIAR NSO #10S 7
A) =T e (EGEeR ova) (B) @k ca (GIFRIET cFa)

©) vg¥ ova (EEBRTR oFR) (D) i oFa (P ¢F)

25. Which among the following is associated with periodic occurrence of strong
walker circulation ?
(A) El-Nino
(B) La-Nina
(C) Glabal cooling
(D) Global warming

R @R T Rerw w1te i eaerm awends e R=EFE 7
(A)  GE-fer B) =r-fe
©€) R Nege (D) {9 SwEA

26. The perpendicular drawn from the intersection of less than and more than
type ogive on horizontal axis shows which of the following ?

(A) Mean
(B) Median
(C) Mode

(D) Central tendency

P W 992 G AT SSIR0SA (0 R (AT SIGEIET SICd S7 STl o1Y ieed
FHIGE Jbe-3E ?

A) W @) Wiema

C) TS D) TR IS

T
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27. Book containing list of extinct plant and animal species ié known as
(A) Red Data Book
(B) Blue Data Book
- (C) Green Data Book
(D) Black Data Book
Reye Bfew @ et erstifsa Sifere! jm 380 4o 2

) @SR e B o
(©) a9 o T (D) I TIOIT

28, Which of the following cereals is relatively more nutritious ?

(A) Finger millet (B) Wheat
(C) Bajyra (D) Paddy
NEF G TR G SiRTos sifg 815715 ?
(A) =i B) sm

(C) &=l D) =

29, Which among the following set of land forms is the result of rejuvenation ?
(A) Incised meander, paired terrace and nick point.
(B) Ingrown meander, waterfall and monadnock.
(C) V-shaped valley, valley in valley and waterfall.
(D) Paired terrace, I-shaped valley and nick point.
o5 e e e R JAET R T 7
(A) ST RS AR, oo 7al e g e g
(B) =PIATG] RPE TR, SEsse 9 2 GG
(©) V-orghs ST, Bererw ey Sep Y9k SIS

(D) o7t AR W, T-onigis (P18 Goteret @3k e g

s
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30. Total area of a country is 100000 sq. km of which 4762 sq. km is unproductive.
1f the population of the country is 10 million then its Man — Land ratio per sq.

km will be -
A) 105 (B) 100
(C) 110 ' .- i) 115

100000 35 B cpam RRE 9ol crem sreeime s «ifm 4762 3o 5 932
Sl 10 PifeTm 2eT % e we-sihi eipiie afts asffofits 2 -

(A)
(C)

105 (By 100
110 D) 115

81. Which of the following are the characteristics of second stage of Demographic
Transition Mode] ?

1,
2.

B,

(A)
®B)
(€
D)

Low death rate and high birth rate
High death rate and low birth rate
Equal birth rate and death rate
11s correct

2 and 3 are correct

1, 2 and 3 are correct

1, 3 are correct

Tiea @ @REeE waizeds nrear Mokt e 2

ik
2
3.
)
®)
©
D)

I o @ B SR
T ToRA @ WE S
SRRERCE SRERECHER B
1 75

2 42 3 A

1,2 4R 3 AT

1 933 3 H(d
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When it is 11:00 p.m. on 28t Feb, 2024 at Greenwich the time at Allahabad
will be
(A) 1st March, 2024, 4:30 a.m.
(B) 1s*March, 2024, 11:00 p.m.
(C) 29t Feb., 2024, 4:30 am.

(D) 29t Feb., 2024, 4:30 p.m.

08 Tl 2024 AR T49 41 11:00 B @+ QETRIcAd T 24 —

(A) 16, 2024, TSI 4:30

(B) 196, 2024, @@ 11:00

(©) 29 I, 2024, TOIF 4:30
(D) 29 TEEFEE, 2024, Repiel 4:30

In a topographical map the contour of the base of a hillock and to that of its top
ig read 200 m and 300 m respectively and if the ground distance from top to
the base along the slope is measured 316.228 metre. What is the gradient of
the ground ?

N e (B) 1:3.16

() 14 M) 1:5

&ﬁ'mnﬂmﬂﬁ%ﬁaﬂmﬁ@ﬂmmﬁmw

200 T @ 300 WoE 7T AR | zﬁﬁmﬁz%mwmwmqﬁ
@ﬁswzzsﬁi’mﬁﬁ,m@m@%@%aﬁ?

(A) 1:3 (B) 1:3.16
(C) 1:4 @) 1:5

Which one of the following mountaln ranges is unique in origin with respect to
collision of two continental plates ?

(A) Himalaya (B) Rocky

(C) Andes (D) Western Ghat
i‘ﬂtﬁfmﬂ{rﬂmqﬁwﬁﬂmmﬂt@wC@@%ﬂ@wmﬂ?
@) ey ® = '

(©) e | D) APsS

v i
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PUBDET-2024
35. Which one of the following sequence of gaps in western ghat mountain. from

north to south is correct ?

(A) Pal Ghat — Thal Ghat - Bhor Ghat

(B) Thal Ghat — Bhor Ghat — Pal Ghat

(C) Pal Ghat — Bhor Ghat — Thal Ghat

(D) Bhor Ghat — Pal Ghat — Thal Ghat

ARerelE “HoT Ber R TR Al @l Feef srits 7 Tt ensl
{5 “Rfrrenfl [ALET T2 |

(A) AAteTElG — AeTHIS — (SFIT
(B) AeTalG — CSIRRIG — TG
+(C) ~eTRIG — CSTRRIG — YeTals
(D) (ST — S’ — A1

36. In which of the following projections “area’ is maintained ?
(A) Orthomorphic Projection
(B) Homolographic Projection

(C) Azimuthal Projection

(D) Aphylactic Projection
o @i MHE SfeERs T “Thawe” ISUH AT 7

A) SRR ST STl
®) woeETaRe TEte wieeEe
(C)  wpyRsare Tt SRerFet
(D) SHRFETFLF TAba SsTH!

TR
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Which of the following set of information one can get from the topographical
map and Indian weather map ?

(A) Topographic gradient, Salinity gradient

(B) Salinity gradient, Pressure gradient

(C) Pressure gradient, Topographic gradient

(D) Pressure gradient, Thermal gradient

ISR Niefba €93 TSI SRR\l AT TF Col SUBHT ST I ?

(A) SARFRST Gie, e<eIel BleT (B) «eTe! GIE, i biel
(C) TI%l O, GElFRe® GIeT (D) B G, S GleT

Ternary diagram falls under which of the following categories of cartograms 7
(A) Open biaxial graph

(B) Closed biaxial graph

(C) Tri-axial graph

(D) Multiaxial graph

BRR crarfa Siosa @i eIt IbiE — 9 TS ?

(A) § 4 opRE Eaiba B) T i P T

(© Faorf erafta D) = e @b

Which one of the following has the largest denominator of R.F. 7
(A) Wall map of the world

(B) Topographical map

(C) Cadastral map

(D) Building plan

Fio5a GEIA GFew R.F. 93 77 (denominator) TG IR 2

&) <R creare AT B) TrotenRewe Wi
(C) FCRE THba (D) i 2

e
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40. 5 r' — written at the bank of a river in topographical map (metric scale)
denotes
(A) depth of the river is 5 m
(B) width of the riveris 5 m
(C) relative height between bank and bed of the river is 5 m
(D) riveris 5 m away
TGP T St Groaifrmrer srica 787 s @l 5 Bt 7
(A) 9% 5 fit. a6
(B) G 5 fir. s
(©) 7RI MG <2 AT 3C4y Ao St et 5 .

D) T 5 . 7= o

41. Which of the following sequences of ray band in the increasing order of
wavelengrh in the EMR is correct ?

(A) UV - Red - Green — Blue

(B) Green — Blue — Red — Infrared

(C) Blue — Green — Red — Orange

(D) UV —Blue — Green — Red

EMR- 4 SRatroafa @ Sl St 4f5a (ray band) wol se@fs i 2
(A)  who@ef — e — s — Fey

B) & — T — = — SREIRE

(©) Ao — 5% — =1 — vt

D) oS — fier — 37797 — a11e

42. ‘Rat — hol¢’ method of mining practiced by the local people of Meghalaya is b
associated with the extraction of which mineral ?

(A) Iron ore (B) Coal :l
(C). Bauxite (D) Fuller's earth ;
G AT FIT WRARTA1 Rat — hole’ #ws (s Wiver w1 wmge 5o ©f 22 3
A Gzl (B) <FHeil ' -
(C) =D D) gerart =G

PR
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43. Which one of the following is more suitable measure for open ended frequency
distribution classes ?

(A) Mean (B) Median

(C) Mode | (D) Standard Deviation

Ty cifta wifrean Retewm e Ao @infG sitTss Sore AR ?
(a) e (B) ==

©) oHeT @) e Rl

44. Which of the following defines sex-ration ?
(A) Number of women per thousand population
(B) Number of women per thousand male
(C) Number of male per thousand women

(D) Number of women per thousand male or Number of male per thousand
women

Fafeatm Ty, mit P weies meafis v ?
(A) &l TS SEEILTE TG TRAN

(B) &l 2Iea +J=0 AT 7T

©) @l ey widive 7PEa 1L
(D) s Tt o MR A2 T S TTE AATS Ta ey

45. Which part of the earth surface is best suited for cylindrical equal area
projection ?

(A} Polar area (B) Subpolar area

(C) Mid-latitudinal area (D) Equatorial area
3 @1 ST @I SIS KR SSER &= Soge ?
(A) O SBS (B) CATTE BB

(C)  WHy SIS ST D) IR OB

1
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46, Which of the following landforms is controlled by the horizontal layering of

47.

48.

bedrocks due to wind erosion ?

(A) Zeugen (B} Yardang

(C) Gour (D) Ventifact

Tes &wg T T T 52 SRR (TR MEARSE Sghie STHeH ST 5g
\3TY 7 : |

(&) FESeH (B) BmmEme

©) T D) cslowg

Landmass in the polar region is uplifted due to melting of the glaciers. This is
due to :

(A) Isostatic adjustment

(B) TIsostatic anomaly

(C) Isostatic rebound

(D) Adjustment to level of compensation

(T3P IRETET I ST 0T Ao O 900 | «F 199 797

(A) et AmET

(B) mikfex qyfoen

(C) miEfer dfsTrae
(D) NSRS BEE AT

Which of the following deposits is found in the deepest portion of the ocean ?
(A) Silicious oozes

(B) Green mud

(C) Calecarious oozes

(D) Diatomacious oozes

fffre seaafer Ty @it L S0 STSIE T TR AW 7
@) eSS

®) TS I

(©) FA SR S5

(D) TRIGITRRTRT B
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Arrange the following discontinuity for the interior of the earth from the
surface to downward and choose the correct alternative given below :

1. Repetti 2. Gutenberg
3. Conrad : 4.  Moho
Options :

A) 1,234 B) 2,4,3,1
© 4,321 @ 34,12

Fiay avs % wrorewa Ko el AR 4 Qe R Foe eiEe s,
e s e QT 75e Gu et 4 :

1. el 2. QG
3. FWTG 4. N
g -

4 1,2,3.4 @) 2,4,31
(C) 4,3,2,1 D) 3,4,1,2

Arrange the following sources of fresh water of Earth in increasing order and
choose the correct option :

1. Fresh water lakes

= Atmosphere

3. Rivers

4.  Groundwater

(A) 3,2,1,4 By 1.2,3,4
(C) 1,4,52 @ 3244
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4. e e

(A 3,2,1,4 B) 1,2,8 4
© 1,4,8,2 D) 3,2,4,1
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